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QID: 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from

the given alternatives.

Treaofeg v # for or Rerewl & @ uww B
(?) & TUE W HE TN TEA B AT

2 11 5
4 | 2] 3
3|16 |2
25113 | 7

Options:
1) 16

2) 30
3)31

4) 41
Correct Answer: 31

Candidate Answer: 31

QID: 202 -
How many triangles are there in the given figure?

#1 ok st A et g ¥

/\
/
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Options:
1)8

2) 10

3) 12

49
Correct Answer: 10

Candidate Answer: 9

QID : 203 -

A word 15 represented by only one sel of numbers as given in any one of
the allernalives. The sets of numbers given in the allernalives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 te 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by ils row and next by its column, for example, ‘P’ can
be represented by 10, 56, elc,, and ‘K’ can be represented by 30, 58, ele,
Similarly, you have to idenlify the set for the word “FRONT™.

UH G e Ud GRAMUE G Gt R g, ohn fr Reeut & |
ey o F a3 fawedt A Ru sw dweurdes el & ar @
gRr g aw g, Sar fe Rw arw g ameyg 3 8| el b TaFn AR
Ry B dwar 0 @ 4 § 3R SmegEn a5 @ 9 5w IR @ T 36N
P Ugel IEHT URp MW AG # ToF TEAT gRT GUT o hal Bl
SEIeAUT & T PP @ 10, 56, G §T GUTRAT S THAr & dm ‘K & 30,
58, 3fe grT gfT o T 1 =W At I e uw # R g
“FRONT” & foiT TaE &l Tgd=aT ¢

Matrix-1 Matrix-li

gl Jnegg-ll
o0l1(2|3]4 5(6|7|8](8
O[F|H|J|L|N 5|N[P| I |K|B
1[PIR|T|V|X BI|L|E|R|IM[A
21Z|B|D|G|E 7|J[T|D|O|Y
JIKIM|O|Q|S g|H|V|B|Q|W
4 |UW|IY|A|C 9|F[X|Z|C|U

Options:
1) 00, 11, 32, 56, 76

2) 95, 67, 32, 56, 12

3) 00, 67, 78, 04, 76

4) 95, 11, 33, 55, 77
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Correct Answer: 00, 67, 78, 04, 76

Candidate Answer: 00, 67, 78, 04, 76

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& T 3 AEAA H ¥ TH Sa¢ HIGS B gl
5w # oy ampla @fed &

>N

Options:
1)

DK

2)

3)

4)

B

Correct Answer:

N
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Candidate Answer:

K

QID : 205 -
Which answer figure will complete the pattern in the
question figure?

hid HW ZAT WEA TN AE F UfAwT @ gu
HI?

~

Options:
1)

2)

3)

4)

/

Correct Answer:
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Candidate Answer:

QID : 206 -
[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE TF FUUT AT AB IET WY T@T S, AT & TR
v apadl F @ @i W ey U gy A
T uiafess 2rie?

Options:

1)
L

2)

yv

3)

4)

AN
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Correct Answer:

AL

A al|lY

Candidate Answer:

A A

A A

QID : 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

T F Uy Efaal # REW WER FHee H
AERT D JUT Wiekd & a5 9% *FE 9T PG
star feans geme

EN" \
j\ ’

'
~ ’
a7
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Options:
1)

> <
o
o 0

2)

3)

4

o
Y

Correct Answer:

Candidate Answer:

& <
<
o 0

QID : 208 - If ‘A’ means '+', ‘B’ means -, 'C’' means 'x’ and ‘D’ means *+’, then which of the following equation is true?
A BT 31 4, B BT 31—, ¢ T 31 ¢ AT D BT o 2§, ) FefaRad § & 1 w1 aediawor w4t 82

Options:

1)12D6A4C3 =12

2)48D3C2=31

3)14C2D7A3=6

4)24C3B14 =58
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Correct Answer: 24 C3B 14 = 58

Candidate Answer: 24 C3 B 14 = 58

QID:209-1f9$4=17and1$5=10,then3$6 =2

qfC94$4=17TU1$5=108,AN3$6=7?

Options:
1) 11
2) 14
3) 13
4) 16

Correct Answer: 13

Candidate Answer: 13

QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Book
2. Bread
3. Butter
4. Bayern
5. Bulb

TRIREd <Teal B UEHI H 1 dlel HH & SFTIR [
1. Book

2. Bread

3. Butter

4. Bayern
5. Bulb

Options:
1) 42135

2) 41253
3) 42153
4) 41235

Correct Answer: 41253

Candidate Answer: 41253
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QID : 211 - In the following question,select the missing number from the given alternatives.
7,26, ?, 124, 215, 342

FofeiRed vy & o e fieed! & @ gw i 1 S
7,26, 2, 124, 215, 342

Options:

1)63

2) 65

3) 66

4)67

Correct Answer: 63

Candidate Answer: 63

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

A, D, IP,?

T 3gpH f3ar €, o ¥ v ve g 81 fou e fawent § § 95 W€l fAdmed 9T, S SwH B IR B
A, D,I,P,?

Options:
1)U

2)R

)W

4)Y

Correct Answer: Y

Candidate Answer: Y

QID : 213 - In the following question, select the odd word pair from the given alternatives.

oo wsr & oy e Rewed! & & 3w <eg gm 31 g



statt Selection Commision

Options:
1) Oxygen : Gas

iR : 1

2) Mercury : Gas
URT : T

3) Gold : Metal
RGBT

4) Uranium : Metal

QR : erg

Correct Answer: Mercury : Gas

uRT: T

Candidate Answer: Mercury : Gas

URT :

QID : 214 - In the following question, select the odd number pair from the given alternatives.

Frofarea uy & fow v Qe § 9 fawn den 3w &1 9wl

Options:
1)4:18

2)7:51

3)9:83

4)6:34

Correct Answer: 6 : 34

Candidate Answer: 6 : 34

QID : 215 - In the following question, select the odd letter from the given alternatives.

FafaRaa oy F fu U fawed T ¥ faum sier &1 gl

Options:
1)U

2)s

3)Q

4G
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Correct Answer: U

Candidate Answer: U

QID : 216 - Identify the diagram that best represents the relationship among the given classes.

Reptiles, Lizard, Lion

Ig 3 gAY S Y Ry e avif & offe F ey &1 el g0 Hrar 31
Wy, fouwdt, Rig

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

©o
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QID : 217 - In the following question, select the related word from the given alternatives.

Saw : Carpenter:: Axe:?

Fofeied ny & for U fieed! & @ vafd wss &1 gl
3 : §gs :W’Eﬁ:?

Options:
1) Ironsmith

TIeR

2) Woodcutter

NESER
3) Cobbler

iG]
4) None of those

THI PR TT

Correct Answer: Woodcutter

NEZSIIN
Candidate Answer: Woodcutter

NEZSHNY

QID : 218 - In the following question, select the related number from the given alternatives.

8:27::64:7?

Frofoiaa uy & oy e Reed § & et e o gfhul
8:27::64:7?

Options:
1) 190

2) 144

3) 125

4)72

Correct Answer: 125

Candidate Answer: 125

QID : 219 - In the following question, select the related letters from the given alternatives.
NP:HJ::SY:?

FrofoRRaa wy & faw mu fowed! & & Wit srert #1 gful

NP:H)::SY:?
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Options:
1) NT

2) MS

3) MT

4) NS

Correct Answer: MS

Candidate Answer: MS

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.

BILLIONAIRE

FafaRad fawel & & 98 s I S U T X8 & 31&RT BT TANT HRab Toi ST Sl GavaT|

BILLIONAIRE

Options:
1) RANT

2) BONE

3) RAIN

4) LINE
Correct Answer: RANT

Candidate Answer: RANT

QID : 221 - The ratio of present ages of Raman and Lamba is 7 : 5. After 6 years age of Raman will be 48 years. What is the present age (in years) of Lamba?

T T AT B1 JAHF SR T ST 7 2 5 81 6 T8 UL YA Bt 311 48 T GIFiY | el Bt Geld SRy (auf &) 7 82
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Options:
1) 30

2) 25

3)35

4) 40
Correct Answer: 30

Candidate Answer: 30

QID : 222 - Weight of Sona is four times that of Mona. Weight of Mona is 2.5 times of Hona. Weight of Hona is 1.5 times of Dhona. Weight of Dhona is 2.5 times of
Rona. Who is the heaviest?

G BT YR HHT BT IR AT 1 THT BT YR FH1 BT 2.5 T 81 81 BT YR SH1 BT 1.5 TAT 7| S ST HR I ST 2.5 TAT 81 Fad YR B4 32

Options:
1) Mona

A

2) Sona

3) Hona

g

4) Dhona

Sikll

Correct Answer: Sona

ikl

Candidate Answer: Sona

Rkl
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QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All books are pens.
II. All pens are tables.

Conclusions:
I. Some pens are tables.
II. All tables are books.

1 feu U vy § 3@ wuF SR 3AF d1E 39 BUET R SR $o ey 3 e §, grerifes 378 ararm 3 awt S far 81 ot o1 gt frend ug ok fisy faffea
B 3T T B @ e, i3y T8 Fu! & SR W ke Td gl

PY:
1. 94t T Han B
11 9 ad A T

e
L. $% HaH AW |
11 9t 79 g §

Options:

1) Only conclusion (I) follows.

Pad feey (1) T R

2) Only conclusion (II) follows.

oot Fsed (1) Wt 1

3) Both conclusion follow.

T g1 e et §1

4) Neither conclusion (I) nor conclusion (II) follows.
T q1 Frepd (1) 7 € Frsed (11) W B

Correct Answer: Only conclusion (I) follows.
Faa Ay (1) 98 81

Candidate Answer: Only conclusion (I) follows.

Fad ey (1) Tg B

QID : 224 - In a certain code language, "PAGE" is written as "QCJI". How is "CALL"written in that code language?

% AR I8 U F, "PAGE" $1 "QCII" foRaT ST § | 30 HIs HIWT H "CALL" ! {3g YR forar Sueme

Options:
1) DCOP

2) DCOQ
3) DDOP

4) DCOR
Correct Answer: DCOP

Candidate Answer: DCOQ

QID : 225 - In a certain code language, "GOAT" is written as "45" and "COAT" is written as "41". How is "BOAT" written in that code language?

e fAfIy $HYg WO H, "GOAT" &1 "45" TUT "COAT" HT "41" foraT ST B 39 HIs W § "BOAT" &I frd YR forar smarm?
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Options:
1) 40

2) 41

3) 42

4) 43

Correct Answer: 40

Candidate Answer: 40

QID : 226 - Which smallest number must be subtracted from 400, so that the resulting number is completely divisible by 7?

400 H Ot 1 At WS BIE WA UeTs W, difes uikendt T 7 9 gofa: At g e
Options:

1)6

2)1

3)2

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 227 - The sum of three consecutive even integers is 84. Which is the least integer among them?

I SHanTd w guifen! &1 i 84 §1 S8 I TEd Biel Yuiid $ I AT 82
Options:

1)28

2) 30

3)32

4) 26
Correct Answer: 26
Candidate Answer: 26

QID : 228 - A number exceeds its 1/6 by 30. What is the number?

Teh AT 39 1/6 T 30 HTp §| I8 WA |1 7?
Options:
1) 120

2) 150
3) 36

4) 24
Correct Answer: 36
Candidate Answer: 36

QID : 229 - What is the digit in unit's place of the product 51 x 52 x 53 ...... 59?

51X 52 X 53 ...... 59 & UFH & SHIE P & T g2
Options:

1)0

2)4

3)3

4)6

Correct Answer: 0
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QID : 230 -

What is the value of 277

2% @1 A Fw Ee

Options:
1) 64

2) 128
3) 512

4) 256
Correct Answer: 512
Candidate Answer: 512

QID : 231 - How many numbers less than 200 are multiples of both 5 and 6?

200 ¥ &1 Tt forait WeAd & STt 5 TUT 6 S T U &7
Options:
1) 21

2)7
3)9

4)6
Correct Answer: 6
Candidate Answer: 6

QID : 232 - Working 10 hours a day, Aman can complete a piece of work in 18 days. How many hours a day should he work so as to finish the work in 15 days?

Tfafe 10 68 Hrf B, 3 faeft ol BI 18 T H OR1 % Weha1 31 SR Y 15 ot & g v & forg I ufafe fasam € o v g

Options:
1) 10

2) 12
3) 16

4) 18
Correct Answer: 12
Candidate Answer: 12

QID : 233 - A can do a piece of work in 10 days and B in 12 days. With help of C, they finish the work in 4 days. In how many days C alone can do the same work?

A T35t o @t 10 & & R Tovan § T B, 12 fami & ¢ 31 wgraar I § ol 31 4 3 F v o) A §1 ¢ 3ibar 39 o $Y faran A § wvme
Options:

1) 12

2) 15

3) 18

4)24

Correct Answer: 15

Candidate Answer: 15

QID : 234 - The lengths of two diagonals of a rhombus are 24 cm and 32 cm. What is the side (in cm) of the rhombus?

T TGS & < Aol &t wrarg 24 S qur 32 3. B1 wmEgde @t yen (@ d) s e
Options:

1)20

2) 40

3) 20v2

4) 40v2

Correct Answer: 20

Candidate Answer: 20
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QID : 235 - The marked price of a chair is Rs 550 and a discount of 20% is given on it. What is the selling price (in Rs)?
T Pl 1 3ifehd e 550 T § TUT I W 20% PI Fe & A1t 31 fasha g (3 F) 7 82

Options:

1) 440

2) 430

3) 470

4) 390
Correct Answer: 440
Candidate Answer: 440

QID : 236 - The marked price of an article is Rs 960 and it is sold at a discount of Rs 192. What is the discount percentage?
TP I T SHfthd Je 960 T § U1 Y 192 T B ge W 591 oidl 8| Fe BT Wiad o1 82

Options:

1) 15

2)20

3)25

4) 30
Correct Answer: 20
Candidate Answer: 20

QID:237-IfA:B=1:4andB:C=2:3, thenwhatisA:B:C?

IEA:B=1:43RB:C=2:3%, MA:B:CHIE?
Options:
1)1:4:6

2)2:8:7
3)2:8:5

4)1:4:5
Correct Answer: 1:4:6
Candidate Answer: 1:4:6

QID : 238 - If x/y = 2/3, then what is the ratio of (3x + 2y) and (3x —y)?
g xfy = 2/3 B, T (3x + 2y) TUT (3x — y) BT U FT G2

Options:

1)4:1

2)3:1

3)2:1

4)4:3
Correct Answer: 4 : 1
Candidate Answer: 4 : 1

QID : 239 - The average of 21 numbers is 12. The average of the first 11 numbers is 9 and the average of the last 11 numbers is 15. What is the value of the
middle number?

21 Tl &1 3fRrd 12 §1 afe vy 11 Ivemsii &1 oird 9 Ud Sifad 11 WReaefi &7 3N 15 §1 Hed e &1 A 341 82
Options:
1) 10

2)11
3) 12

4) 13
Correct Answer: 12
Candidate Answer: 12
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QID : 240 - If the rice is sold at Rs 56 per kg, there would be a 40% loss. To earn a profit of 20% what should be the price of rice (per kg)?

e TG BT 56 3 Ul [6.91. BT R T =01 91T &, dl 40% BT g1 B | 20% BT ATH U B & I 9 &t pida (vl .91, fea e =nfgee
Options:
1) 112

2) 108
3) 116

4) 124
Correct Answer: 112
Candidate Answer: 112

QID : 241 - If the profit is 20%, then what will be the ratio of cost price to selling price respectively?
I AU 20% 8, 0 HHL: 67 G a1 facwd Geo &1 uId o1 g

Options:

1)4:5

2)5:6

3)2:5

4)3:4
Correct Answer: 5: 6
Candidate Answer: 5 : 6

QID : 242 - In a school 60% of the students are girls. If number of boys is 480, then what is the total number of students in the school?
e e & 60% faenif asfedi 81 afe as! o) Wem 480 7, O pd & $d fava faemeif g

Options:

1) 1200

2) 840

3) 9

4) 1320
Correct Answer: 1200
Candidate Answer: 1200

QID : 243 - If one-third of a number is 45, then what will be the 45% of that number?
Bt T &1 UH-IgTs 45 €, T I BT BT 45% T TRI?

Options:

1) 60.75

2) 58.25

3) 61.25

4) 70.75
Correct Answer: 60.75
Candidate Answer: 60.75

QID : 244 - Speeds of a boat along the current and against the current are 14 km/hr and 7 km/hr respectively. What is the speed of boat (in km/hr) in still water?

TSP 19 B S URT F G aUl 4RI & ufage fGxn & wasr: 14 f5.m./der aur 7 735,48 e 31 i st & Aa ot 7ifey (Fas. 1 /eier &) @ 32
Options:

1)35
2)7.5
3) 10.5

4)9.5
Correct Answer: 10.5
Candidate Answer: 10.5
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QID : 245 - A person goes from point N to P and comes back. His average speed for the whole journey is 60 km/hr. If his speed while going from N to P is 40
km/hr, then what will be the speed of the person (in km/hr) while coming back from P to N?

U Afad fofg N & P STl § T TR ST STl § | O am & g Iwes! el Ty 60 o ittt g1 afe N & p S & Iwast Tifd 40 fos. . /gier B, P A N O aToRy oM
T 39 Afad &1 1 (f%. 1. /e 8) T grfre

Options:

1) 80

2) 100
3) 120

4) 140
Correct Answer: 120
Candidate Answer: 120

QID : 246 - A certain principal is invested in a scheme of compound interest. The amount obtained after 1 year is Rs 2400 and the amount obtained after 2 years is
Rs 2880. What is the rate of interest (in percentage)?

wﬁ%n@mmwﬁwmﬁﬁﬁw%mW| 1 af TTd 1T S aTel e 2400 T § G 2 ¥ ULTd UIT S ITe fse 2880 ¥ €1 ST B <) T
imﬁ)?

1) 20

2) 15

3)25

4) 10
Correct Answer: 20
Candidate Answer: 20

QID: 247 -
The line chartgiven below shows the profit (in crores) of
a company for the years 2008 to 2015.

= BT 9T @ BrE 7 99 2008 ® I 2015 O TS
FUAT F AT (FUE H) Fr AR T T

600
500

500

N

o

o
I

Profit (in crores)
I (FUT H)
N W
o O
o O

1224
100 A
0 T T T T T T T 1
o] [=)] o - o « =t Te]
Q [} -— - - — - ~
] (] o = o o o =]
o~ N (o} o™ o N N ™~

Year /9§

In how many years from 2009 to 2015 the increase in profit with respect to previous years is more than 30 crores?

9 2009 ¥ I 2015 T fara aut & 7a auf B ga & Y A 3 30 FIS ¥ i W@ 72
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Options:
1)3

2)2
3)5

41
Correct Answer: 3
Candidate Answer: 2

QID : 248 -
The line chartgiven below shows the profit (in crores) of
a company for the years 2008 to 2015.

= BT o rar By A 9 2008 ® I 2015 9% UH
HUAT & AT (HUS H) S gUET T F

8600 - 500
E\ - 500 -
5% 400 -
(&)
c ﬁ 300 1
S E 2001224
o 100 ~
0 T T T T T T T 1
[ea] ()] o — o™ (0] = Iy
[ ] [am] — - ~— — — ~—
[ ] [ew] o o (on] o (=]
(] (] o™ N [a] (g [t} (9]
Year/a%

What is the percentage increase in profit in the year 2010 in comparison to the previous year?

¥ 2010 H, 71d T BI gar1 & A H foas ufawrd afg g8 82
Options:
1)20

2)12
3)10

4) 25
Correct Answer: 10
Candidate Answer: 10
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QID: 249 -
The line chart given below shows the profit (in crores) of
a company for the years 2008 to 2015.

= 2T 917 T@r Ry # 9§ 2008 @ I 2015 d% TH
HOAT & ATH (FUS ) Fr AR TAT B

600 - c00
@ ., 5001
5% 400 -
e E 300 -
€ E 2007224
& 100 A
0 T T T T T T T 1
o) [=)] o - o (o] <t Lo
[en ] (=] -— - -— -— -— -
(=} o o o (en] o o [
N o (o] ™~ o™ o [t} [
Year/ag

The profit in 2015 is what percent of the profit in 2014?

¥ 2015 & gu arH ¥ 2014 A §U ATH BT fbaT wfdwra 82
Options:
1)75

2) 115
3) 135

4) 125
Correct Answer: 125
Candidate Answer: 125
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QID : 250 -
The line chart given below shows the profit (in crores) of
a company for the years 2008 to 2015.

= 2T 917 T@r Ry # 9§ 2008 @ I 2015 d% TH
HOAT & ATH (FUS ) Fr AR TAT B

600 - c00
@ ., 5001
5% 400 -
e E 300 -
€ E 2007224
& 100 A
0 T T T T T T T 1
o) [=)] o - o (o] <t Lo
[en ] (=] -— - -— -— -— -
(=} o o o (en] o o [
N o (o] ™~ o™ o [t} [
Year/ag

What is the average profit per year from 2011 to 2015?

a9 2011 ¥ 99 2015 T, U 9 AT TH T F?
Options:
1) 398

2) 406
3) 384

4) 387
Correct Answer: 398
Candidate Answer: 387

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

These five sisters (1)/ care for one other (2)/ like mothers. (3)/ No Error (4)/
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Akshay kumar being a (1)/ good actor he is (2)/ presented with the National Award. (3)/ No Error (4)/
Options:

1)1
2)2
3)3

44
Correct Answer: 2
Candidata Aneawar: [ NOT ANQWFRFN 1
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QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

More than thirty years have now passed I had my first flight.

Options:
1) since

2) after
3) while

4) when
Correct Answer: since
Candidate Answer: since

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Raman has come up a problem.

Options:
1) for

2) with
3) of

4) into
Correct Answer: with
Candidate Answer: with

QID : 255 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Plight

Options:
1) Blessing

2) Aid
3) Relief

4) Difficulty
Correct Answer: Difficulty
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Articulate

Options:
1) Distinct

2) Unclear
3) Disconnect

4) Secret
Correct Answer: Distinct
Candidate Answer: Secret

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Mandatory
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Options:
1) Optional

2) Voluntary
3) Essential

4) Unnecessary
Correct Answer: Essential
Candidate Answer: Essential

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Negotiate

Options:
1) Adjust

2) Consult
3) Debate

4) Remain
Correct Answer: Remain
Candidate Answer: Debate

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Distress

Options:
1) Concern

2) Pleasure
3) Anxiety

4) Discomfort
Correct Answer: Pleasure
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Tolerate

Options:
1) Accept

2) Bear
3) Permit

4) Disapprove
Correct Answer: Disapprove
Candidate Answer: [ NOT ANSWERED ]

QID : 261 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Break the ice

Options:
1) Bad intention

2) To escape
3) To break the silence

4) To fail
Correct Answer: To break the silence
Candidate Answer: To fail



statt Selection Commision

QID : 262 - In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Cry in the wilderness

Options:
1) Upset the balance

2) An unrealistic demand
3) To defeated completely

4) A sudden shock
Correct Answer: An unrealistic demand
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

(Upto) the time he wasn't here, we were not sure if he will actually come.
Options:

1) Till

2)To

3) Until

4) No improvement
Correct Answer: Till
Candidate Answer: Until

QID : 264 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

As feared, (differences into) the families pose a hurdle.
Options:

1) difference into

2) difference as in

3) difference amongst

4) No improvement
Correct Answer: difference amongst
Candidate Answer: difference into

QID : 265 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

That which cannot be put out

Options:
1) Illusion

2) Indigenous
3) Incentive

4) Inextinguishable
Correct Answer: Inextinguishable
Candidate Answer: Indigenous

QID : 266 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The system which is observed to do progress

Options:
1) Violation

2) Impairing

3) Preservation
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Correct Answer: Reformism
Candidate Answer: Reformism

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Beneficial

2) Benfical
3) Benaficial

4) Beneficle
Correct Answer: Beneficial
Candidate Answer: Beneficial

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Continuous

2) Continous
3) Contenuous

4) Countionuous
Correct Answer: Continuous
Candidate Answer: Continuous

QID : 269 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Integrating diversity

P: governance which is firmly grounded
Q: in international human rights law

R: goes hand in hand with

Options:

1) QPR

2) RPQ

3) PRQ

4) QRP

Correct Answer: RPQ

Candidate Answer: [ NOT ANSWERED ]

QID : 270 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Demographic pressure
P: wage rate below

Q: the subsistence level
R: cannot push the

Options:
1) QPR

2) RPQ
3) QRP

4) PQR
Correct Answer: RPQ
Candidate Answer: RPQ
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QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

Books are our friends.

Options:
1) fake

2) original
3) real

4) majestic
Correct Answer: real
Candidate Answer: real

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The hooks contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

the great of our world

Options:

1) feel

2) thoughts

3) idle

4) money

Correct Answer: thoughts

Candidate Answer: thoughts

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

The books help us find to

Options:
1) answers

2) solutions
3) relations

4) opinions
Correct Answer: answers
Candidate Answer: answers

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

books as we can.

Options:
1) much
2) many
3) few
4) less

Correct Answer: many
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QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Books are our friends. They are our guides. We can learn everything from them. The books contain all the great of the world's leaders and we can
learn them by reading the books. The books help us find to our questions. The books never fail us. We should read as books as we can. But all books
are not good. So we should only good books.

So we should only good books and read them.

Options:
1) remove
2) looking
3) steel
4) choose

Correct Answer: choose
Candidate Answer: choose

QID : 276 - Micro-economics is also called

o2 Re e o R o e s
Options:

1) Profit theory

Y Rygia

2) Loss theory

3) Price theory

e Rrgia

4) Expenditure theory

g Rl

Correct Answer: Price theory
e Rigia

Candidate Answer: Price theory

e Rigid
QID : 277 - Transport comes under which sector of economic growth?

uRag snfife Tfafaf ¥ 5w &ae & Siavla sar 82
Options:
1) Secondary sector

2) Primary sector
TS &
3) Tertiary sector

4) Quaternary sector
Correct Answer: Tertiary sector

Candidate Answer: Tertiary sector

QID : 278 - Which among the following refers the existence of more than one level of Government in the Country?

iR & ¥ o onf 29 § 1 I S1eT TR 6 BRI $T eH1 82
Options:

1) Democracy

GICEIEED

2) Federalism

qodiq
3) Monarchy

4) Bicameral

feaett

Correct Answer: Federalism
Hearg

Candidate Answer: Federalism
Hearg
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QID : 279 - Which among the following Amendment Act is also known as *Mini Constitution?

Frofafea 7 9 58 "ay-uidum & 99 ¥ ff S o g2
Options:

1) 2nd Amendment

FGNESRIEE]

2) 42"d Amendment

4247 e

3) 48t Amendment

48aT e

4) 57th Amendment

57af g=ee

Correct Answer: 42"d Amendment
4247 e

Candidate Answer: 42"d Amendment
4241 SR

QID : 280 - In which language did Vardhaman Mahavira taught?

e e A B < wren 3 ot Ren i
Options:
1) Prakrit

ipd
2) Hindi

3) Pali

et

4) Sanskrit

Correct Answer: Prakrit
Candidate Answer: Prakrit

wrpd

QID : 281 - During which period Non-Cooperation Movement gained momentum?

ST ST B e SR & T fieft?
Options:

1) 1910-1912

2) 1915-1917

3) 1921-1922

4) 1930-1932

Correct Answer: 1921-1922
Candidate Answer: 1921-1922

QID : 282 - The moon that we see in the sky is a .

3w & fea are <igan b gl
Options:

1) Planet

P

2) Star

GIRY

3) Sun

4) Satellite

SEPE

Correct Answer: Satellite
S

Candidate Answer: Satellite
SUlg

QID : 283 - The world’s longest river the Nile, flows through which continent?

3y &) e el T N b WeTEY ¥ SR TRl 87
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Options:

1) South America
afgoll shRe

2) Africa

SHTBIBT

3) North America
Fadl iRt

4) Europe

Correct Answer: Africa

SMTBIDHT

Candidate Answer: Africa

QID : 284 - Which category of compound is most concentrated energy source?

e 2oft & At Sorf P alfie Tpfud @Wia g 87
Options:

1) Fats

q41

2) Starch

wE

3) Proteins
e

4) Vitamins
ICEIEE]

Correct Answer: Fats
941

Candidate Answer: [ NOT ANSWERED ]

QID : 285 - What is main root of plants called as?

Gielf B} 4T SIS P T S I 82
Options:

1) Tap root

T TS

2) Lateral roots

o g

3) Fibrous roots

WeR W8

4) Anchor

Correct Answer: Tap root
FUSUEE)
Candidate Answer: [ NOT ANSWERED ]

QID : 286 - The exchange of materials between blood and interstitial fluid occurs only at the .

T R feRTeia R yerf & e qmiEt o1 sieH-UeH Haq ERGIE|
Options:

1) Veins

Bl

2) Capillz.aries

3) Arteries

ERiEw]

4) Arterioles
b BEakT]

Correct Answer: Capillaries

CaRicaEn]
Candidate Answer: [ NOT ANSWERED ]

QID : 287 - The commonly used thermometric substance is

T Y § TIE 8 aral arauTdig gerd 2l
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Options:

1) mineral oil

ECEEIGK]

2) Alcohol

Tl

3) Mercury

URT

4) Petrol

Correct Answer: Mercury
URT

Candidate Answer: Mercury
URT

QID : 288 - Heat flows as a result of difference of .

EAIGARGI SR % IRUTHRGEY B g
Options:

1) Temperature

GIELIC

2) Density

Yied

3) mass

SHHM

4) Volume

S

Correct Answer: Temperature
GIELIG

Candidate Answer: [ NOT ANSWERED ]

QID : 289 - What is the full form of GUI?

ft. . o, o7 sRifde = T g2
Options:
1) Graphical Universal Interface

M d JHaud sexhd

2) Graphical User Interface

ToR X
3) Graphical User Integration

4) Graphical Universal Integration

Correct Answer: Graphical User Interface
ihehd YoR by
Candidate Answer: Graphical User Interface

MBHd ToR FeBY
QID : 290 - A proton is identical to .

THUCH 59U g 5
Options:

1) the nucleus of helium
Siferaw & s

2) the nucleus of a hydrogen atom

BISgIo UMY & NS

3) an alpha-particle

Th 3{etpl HU

4) a beta particle

T dficT Ul

Correct Answer: a beta particle

T dficT HUl

Candidate Answer: [ NOT ANSWERED ]

QID : 291 - An « patticle is .

TP «PU____ FaI8l
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Options:
1) A hydrogen molecule

TS GRS 37

2) A helium nucleus

T giferas HiNd

3) An atom of hydrogen
EHESSEEARGD A1

4) A proton

T W

Correct Answer: A helium nucleus

o giferay e
Candidate Answer: [ NOT ANSWERED ]

QID : 292 - What is the process of waste water treatment is commonly known?

SUFTE SIe & ITAR F UHH HY AT U 37 Hgd 82
Options:

1) Waste water management

U & UeY

2) Cleaning of water

A B B

3) Sewage treatment

CIRSRCIREEIN

%)@I?;E{ou?tamination

Correct Answer: Sewage treatment
qrfed T SUAR

Candidate Answer: Sewage treatment
q1igd T SUER

QID : 293 - When was "Pradhan Mantri Mudra Yojana" launched?

"HeTHA G&I TS 6T YHSHRY D b1 mar ur?
Options:

1) September 2014

RydeR 2014

2) November 2014

AR 2014

3) April 2015

30T 2015

4) January 2016

TSN 2016

Correct Answer: April 2015
30 2015

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who among the following discovered electron?

FafeReT & @ fem gaae &1 @iot ®1 di?
Options:

1) J.J Thomson

S, 9. g

2) Max Born

T d

3) Antoine Lavoisier

3{-clgd a4 ERSN
4) Mendeleef

Correct Answer: J.J Thomson
. S, oA

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - Which team has won the 2016 -17 Ranji Trophy?

b9 €W 71 2016-17 & UMK 10T Sitr o?
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Options:
1) Mumbai

2) Gujarat

3) Karnataka

4) Tamil Nadu

Correct Answer: Gujarat

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Madhubani artwork started in which state of India?

TYTN HATPR] HRT & forey 39 & o g8 e
Options:
1) Bihar

2) Uttar Pradesh
JR Ya

3) Rajasthan
ST

4) Gujrat

Correct Answer: Bihar

Candidate Answer: Bihar

QID : 297 - Who is the recipient of Kala Ratna Award 2017?

2017 & AT YA [RIDR P YTdddi DI 52
Options:

1) Anupam Kher

SERRACH

2) Om Puri

3

3) Naseeruddin Shah

THREH W8
4) Prahlaj Nihalani

ERSISI

Correct Answer: Anupam Kher
EREERCH

Candidate Answer: [ NOT ANSWERED ]

QID : 298 - Who is the author of the book named "Making India Awesome"?

"Rt fear S THE [P & AGE B 82
Options:

1) Jairam Ramesh

ORI

2) Tarun Khanna

GRGECEN

3) Chetan Bhagat

I W

4) Amitav Ghosh

Sifiyama 9y

Correct Answer: Chetan Bhagat

EGERINGH
Candidate Answer: [ NOT ANSWERED ]

QID : 299 - Which country has established new 242 ministerial dialogue with India similar to India Japan 2+2 dialogue?

g S 7 YRA F WY YRA-SIUH & O 2 + 2 HEER dare @it far g2
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Options:
1) Britain

2) Australia

sfieeferan

3) USA

Y ey AR

4) Israel

ESNEN]

Correct Answer: USA

TG I SARBT

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Which neighbouring country of India lies to the south of Lakshadweep islands?

YR BT HH A1 UST =T Terid €19 & afeor & Ry g2
Options:
1) Maldives

2) Bangladesh
CIRGIEE)

3) Myanmar
AR

4) Indonesia

SRR

Correct Answer: Maldives

Candidate Answer: Maldives



